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10.

J-forRad IReRAr faaver &1 ured, fagdq
frer1el | ATe Y9 qgae 9 ol Ared fames
IRCAGH

A cone is 10 inches in diameter and 10 inches deep.
Water is poured into it 4 cubic inches per minute. At
what rate is the water level rising at the instant when

the depth is 6 inches ?
6

& TP B MBS 10 $9 AT A 10 39 o |
4 g9 59 yfd fiFe &) <% 9 399 g+l sTalT
ST Y81 2 | 39 &1 g &) gdg fég <% 4
qJedl el g &or 1eg 6 39 B ?

OR(3721d)

2
For the curve 1> = a° cos 20, Prove that p = %

Where p is the radius of curvature.
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2019(Even)
Time : 3Hrs. Sem. I & II(G)
Engg. Maths

Full Marks :70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B 4wt uig gl & IR <, uAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 06 marks.

7u-C & wft uig gl & SR <, UAS 9T &1 99 06 3(F 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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Answer all Five Questions.

Il uig g & SR o

, lim ay
7. Evaluate : X—300 (1 +y)
. lim a\y
A PreTel © xeo (1 50)
OR(3121dT1)
Evaluate :
lim  1?+1 2+1 3+1
X_)w 3 + 3 + 3 + ..........
n n n
a4 fAerd -
lim  *+1 2+1 3+1
X_)w 3 + 3 + 3 + ..........
n n n
. dy _ _sinx cot x
8. Find o when y=x  + (tan x)
% freTel wrg ¥ =x""+ (tanx)*"

N2015 N2015
(i)
5x6 =30
6
(iii)
+nz-i—n
1
+r12+n
e
(iii)
6
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lim  x-a' Q¥ ... =
X—a  x-a

(3_{) na'nJrl

@) na"’

(&) na"

(?) su¥ @ ®Ig T |

)giil:() %/1_4-; -1 isequalto:
(a) 3

(b)-F

(©) +

(d) None of these

Xlii)n0 \3/1_4?{_1 R B -
(31) 3

@ -1

@) 1

(?) 379 9 DIz e
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aft A 3k B @ wesiy @ wafd PA) =1, W)

P(B) =5 3R P(ANB) =7 al

(I) P(AUB)
(i) P(A' N B") fa®rel

OR(312141)

A card is drawn from an ordinary pack and a
gambler bets that it is a spade or an ace. What are (vi)
the odds against his winning the bet ?

arer @& U TS | UHh gdr EfiEr oar @
TS JII 38 TP PIcll U9 AT U Tadl B
D 9ISl AT 2 | S Sfad &1 ufdaad
HANTUTd F1 2@ ?

5. If Ya-ib =x- 1y then Prove 4
that ¥a+ib=x+ 1y (vi)

gfe Ja-ib =X-1y Ol g
BN Va + ib =X +1y

5 1602102/1601202/P1602102
050 Snsg T E:
(@) 2
@ 3
(®) -5
(€) g7 9 BIg 7|

Differential co-efficient of Sec x with respect
toxis:

(a) -Sec x . tan x
(b) Cosec’x
(c) Sec x . tan x
(d) None of these
X® ATU& Sec x BT JddHe (VNP B :
(31) -Sec x . tan x
(@) Cosec’x
(") Secx.tanx
() s ¥ PIs I |

P.T.O
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(xx)  The function f(x) = 2x> - 21x*> + 36x - 20
will be maximum or minimum when :
(@) x>+ 7x+6=0
(b) xX*+7x-6=0
() xX*-7x+6=0
(d) None of these

(xx)  Held f(x) = 2x7 - 21x*> +36x - 20 Ha<H
AT JATH B O -
@) xX*+7x+6=0
@) x*+7x-6=0
@) x*-7x+6=0
(]) =99 94 iz 81 |

GROUPB

Answer all Five Questions.

9l ufg yo=l & SR o

5x4 =20

2
2. Find the Domain and Range of %_11 4

2

X1 %1 yurg &5 v aRER Frere |

x-1

N2015

(viii)

(ix)

(ix)

7 1602102/1601202/P1602102

X @ WU& e” BT ddhd [N © :

(@) <
@) _ae™

(|) ae™
(?) 399 A BIg L |

Differential co-efficient of Vcot x with
respect to X 1s :

-Cosec’x
@ 2vcotx
(b) Cosec’x
2\cotx
Sec’x
2\cotx
(d) None of above

(©)

X @ WY& Veot X BT Idbel LUNd &

-Cosec’x

2Ncotx

@) Cosec’x

2~Ncotx

) Sec’x

2vcotx
(?) 399 A BIg AL |

(1)
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(i) JATDS 9,7,5,8,2,1,3,2,6,2,3 BT (xi) tanx @ HIYE sec x Bl Adbel UMD © :
dgeld . 2 (a) Cos x
(31) 2
(@) 3 (b) Tanx
(%) 9 ,
(@) 399 @ BI$ A | (c) Sinx
(xvi)) Impericat formula connecting Mean, Median (d) 3 A Bz 7|
and Mode . B d
(a) 2 Mean = 3 Median - Mode (xii) Ifx =ae ,y=be then % is equal to :
(b) Mean = Median - Mode
(c) 2 Mode = Mean - Median (a) - % e
(d) None of these 4
®) " ©
(xvi)) ATE, ATAST 3R 9gcd HI Sils+ arell .
TR RGA BT ..o 2| © H¢
(31) 2 #rem = 3 YD - ggcdD
(g[) HIEY = q‘rf%q;b—[ _aga—cﬁ (d) None of these
(W) 2 SgA® = WreA - AfEADT o af ¢ 4 dy s
(?) 399 4 Big LI (xii) x=ae ,y=be TI o TR ¥ :
b .2
(xviii) What is the probability of drawing one spade @) -3¢ t
from a pack of 52 cards ?
_ie'h
@ -3
1
(a) 55
a -2t
1 () B °
(b) 7
4 (?) 389 4 BIs AN |
(c) 37

(d) None of these
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11.

) 2
dsh r’=a’ cos 20 @ foru : fug o pz%

oal p is the radius of curvature 2

Solve the following equations by Gaussian
elimination method :

2x, +4x, +x,=3;3x, +2x, - 2x,=-2

X, -X,TX;=6 6
MR gfafimee fafr | feafaRaa
BN Pl & DY

2x, +4x, +x,=3;3x, + 2x, - 2x,=-2;

X, -X,TX;=6

OR(3721d)

Solve following equation by Gauss-Seidel method:
27x+6y-z=85;6x+ 15y +2z="72;
x+ty+54z=110

frrfaRaa wieen &1 wa fisa fafer |

gl BN |
27x + 6y -z=85;6x+ 15y +22 =72 ;
X+y+54z=110

Heskok
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11.

) 2
dsh r’=a’ cos 20 @ foru : fug pz%

E p is the radius of curvature 2|

Solve the following equations by Gaussian
elimination method :

2x, +4x, + X, =3 ;3x, +2x, - 2x,=-2

X, -X, tTX;,=6 6
MR fafafes fafr @ feafafea
BN Pl & DY

2x, +4x, +x,=3;3x, + 2x, - 2x,=-2;

X, -X, tTX;=6

OR(3721d)

Solve following equation by Gauss seidel method:
27x+6y-z=85;6x+ 15y +2z="72;
x+ty+54z=110

frrfaRaa whaven &1 wita R fafer |

el BN |
27x+6y-z=85;6x+ 15y +2z="72;
Xx+y+54z=110

Askok
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